

# Analysis of Writings of Fourth-Grade Turkish-Speaking Students with Low Vision in Terms of Legibility and Spelling Errors

#### Cem Aslana

 Received
 : 17 April 2021

 Revised
 : 28 July 2021

 Accepted
 : 20 September 2021

 DOI
 : 10.26822/iejee.2021.229

°Correspondance Details: Cem Aslan, Gazi University, Ankara, Turkey. E-mail: cemaslan@gazi.edu.tr ORCID: https://orcid.org/0000-0002-0300-5873

### Abstract

The purpose of this descriptive study is to analyze the writings of fourth-grade Turkish-speaking students with low vision in terms of legibility and spelling errors. The study is a general survey design and used the criterion sampling method. The study group consisted of 32 students with low vision. A Multidimensional Legibility Scale was used to evaluate students' writing legibility. The researcher developed a Spelling Error Evaluation Form to determine the spelling errors. The Mann-Whitney U test and a descriptive analysis were performed to analyze the study data. The findings of the study reveal that fourth-grade students' writings with low vision were generally not legible or were legible at a moderate level. In terms of spelling errors, it was observed that fourth-grade students with low vision made the most errors in letters, words, and spelling. Typing the letter smaller/ larger than the relevant range was the most frequent, and suffix (-ki) was the least misspelled. It was observed that fourth-grade students' legibility and spelling error scores with low vision did not differ according to the variables of gender, school type, and braille. Also, a significant and negative correlation between spelling errors and legibility scores was found. The findings are discussed within the framework of the relevant literature and presented some suggestions for future measures and research.

#### Keywords:

Students with Low Vision, Legibility, Spelling Error, Visual Impairment, Special Education

#### Introduction

Visual impairment is considered an umbrella term that includes people with low vision and those visually impaired (blind) (Kreuzer, 2007). This concept is incorporated in the last version of the International Classification of Diseases (ICD-11) under visual impairment. It is classified as follows: mild visual impairment, moderate visual impairment, severe visual impairment, and total visual impairment (blindness) (World Health Organization [WHO], 2020). The concept of low vision is also considered a general category within visual impairment. Visual impairment is common in society and there are approximately 285 million people



© 2021 Published by KURA Education & Publishing. This is an open access article under the CC BY-NC-ND license. (https://creativecommons.org/licenses/by/4.0/)



visually impaired worldwide, most of whom are low vision (WHO, 2012).

In Turkey, students with low vision receive education either in inclusive environments where they attend with peers with normal vision or at schools for the visually impaired, which have been opened for visually impaired students (Yilmaz, 2020). Therefore, the aims and achievements that students will gain are the same. As the scope of the research is the writing skills, when the curriculum applied to the students is examined (Ministry of National Education [MONE], 2019), we encounter different writing acquisitions. For example, the students are expected to acquire skills such as writing letters and numbers especially in the first four years of the program. Using capital letters and punctuation marks in appropriate places, leaving appropriate spaces, writing numbers, question marks, and suffix abbreviation correctly are among the skills they are supposed to learn. However, the study findings reveal that the students encounter several skills-related problems with writing.

Low vision is a visual impairment that limits the independent display of actions or tasks associated with seeing in daily life (Verezen, 2009). In educational terms, it is defined as the ability of an individual to read printed materials written in large or standard font size with the help of magnifying glasses (Safak, 2009). In this respect, many students diagnosed with low vision encounter various problems in their daily lives and academic environments. For example, they may have difficulties reading, writing, orientation, and mobility, or performing tasks related to the use of vision, such as shopping and technology (Macnaughton et al., 2019). Students with low vision have difficulty in basic academic skills such as writing skills. Students with low vision have two literacy tool options: printed (standard) materials and braille (Holbrook, 2009). In other words, students with low vision can sometimes use braille and sometimes large font materials based on their vision and individual needs (Yalcin, 2020).

Markowitz (2006) claimed that handwriting might be challenging for students with low vision. McCall (1999) stated that students with low vision may have massive, irregular, and inconsistent letter structures and have difficulty leaving equal space between words and writing in a straight line and especially when the teacher shows the shapes of the letters. It reveals the problems experienced by students with low vision in writing. A study by Harris-Brown et al. (2015) also showed that the font size of students with low vision varies. They cannot write straight, and there are irregularities between letters and words and spaces. Harley et al. (1997) explained that students with low vision make different spelling errors. Examples of such mistakes are unequal letter spacing, combined spelling of words, difficulty in line straightness, inconsistency in letters, differences in size and slope in letters, omitting words, not non-compliance with to margins.

Some situations that students with low vision have may negatively affect their writing. In other words, there may be many reasons why students with low vision have difficulty in proper and good handwriting, and these may result from several factors. For example, motor skills (fine motor), visual factors (visual field), and mechanical (kinaesthetic knowledge) difficulties (Arter et al., 1996; Kaiser et al., 2009; McCall, 1999) are some of these factors. Due to these situations, students with low vision may show inadequacy in writing skills, which is considered an academic skill (Aki et al., 2008). Successful writing depends on students' writing speed and legibility (Atasavun Uysal & Duger, 2012). Studies highlighted that students with low vision spend more time writing and have lower average scores than their peers with normal vision (Aki et al., 2008). In a study by Atasavun Uysal and Duger (2012), no significant difference in the legibility scores of students with low vision after literacy education was observed. According to Graham et al. (1998), when students focus on fast writing, they can ignore the importance and legibility of an essay. Harris-Brown et al. (2015) reported that the handwriting legibility of students with low vision does not differ from their peers with normal vision. In contrast, Atasavun Uysal & Aki (2012) found that the legibility of students' writing with low vision and students with normal vision differed significantly. They also reported a significant relationship between legibility and visual-motor coordination. However, the research literature has limited studies investigating the writing skills of students with low vision, especially when they read and write in Turkish. These studies examined the relationship between kinesthetic sensory and writing performance (Aki et al., 2008) and writing skills and visual-motor control (Atasavun Uysal & Aki, 2012), the suitability of the literacy tool (Tiryaki, 2012), the effect of literacy education on font type and font size (Atasavun Uysal & Duger, 2012), the impact of writing preparation material (Kirac, 2003), teaching legible handwriting (Safak, 2011), handwriting kinematics, and factors affecting the pencil holding position (Guven, 2020) and written expression skills (Aslan, 2020; Aslan & Cakmak, 2020). However, in terms of legbility and spelling errors, no studies have addressed the students' writings with low vision. Students with low vision may encounter certain problems in their writing skills. In this context, we should determine the situations of students with low vision regarding their writing skills.

#### The purpose of the study

This study aimed to fill the gap in the literature, based on the lack of research, and analyze the students' writings with low vision from legibility and spelling errors. The study provides examples for teachers working with students with low vision in a topic where

the writings of students with low vision are locally and universally integrated. Considering studies on students' legibility and spelling errors with low vision are limited, the results of the study would provide useful information to educators (special education teachers) and families. Moreover, analyzing spelling errors will provide a rich source of information in shedding light on specific difficulties students encounter in writing process (Protopapas et al., 2013). This study aims to analyze the writings of fourth-grade Turkish-speaking students with low vision in terms of legibility and spelling errors. Hence, the research aims to seek answers to the following research questions:

- 1. What is the legibility for the texts of fourth-grade students with low vision?
  - 1.1. Do the legibility scores of fourth-grade students with low vision differ by *gender*, school type, and braille?
- 2. What are the spelling errors made by fourth-grade students with low vision?
  - 2.1 Do the spelling errors of fourth-grade students with low vision differ by gender, school type, and braille?
- 3. Is there a relationship between legibility scores and spelling error scores of fourth-grade students with low vision?

#### Method

#### Research Design

A screening study is a research approach to describe a past or present situation (Karasar, 2000). Screening studies allow the investigation process to be performed without deteriorating natural conditions or making a changing environment. In this study, the researcher used the legibility scale to examine students' writing with low vision and developed an evaluation form to determine spelling errors. In addition, analysis of differences and correlation calculations were performed in terms of the variables of gender, school type, and braille for both conditions.

#### Study Group

The study group consists of 32 Turkish-speaking students diagnosed with low vision. The students with low vision in the study group were selected from the students in primary schools and inclusive classes for the visually impaired in Ankara, the capital city of Turkey. To determine the participants, the criterion sampling method was used. (Buyukozturk et al., 2011; Patton, 2014; Yildirim & Simsek, 2006). In accordance with this approach the following inclusion criteria were employed: i) Attending the fourth grade, ii) Having a health board report regarding the vision status and not having any additional disabilities (hearing loss, mental disability, etc.), iii) Having functional vision skills at a medium or good level according to Gazi Functional

Vision Assessment Tool (Safak et al., 2013) and iv) Using printed (standard) materials according to the Literacy Tool Assessment (Tiryaki, 2012). The demographic characteristics of students with low vision in the study group are given in Table 1.

**Table 1**Demographic Characteristics of Study Group

| Variables     | Categories                        | f  | %    |
|---------------|-----------------------------------|----|------|
|               | Male                              | 18 | 56.3 |
| Gender        | Female                            | 14 | 43.7 |
|               | Schools for the Visually Impaired | 19 | 59.4 |
| School Type   | Inclusive Environments            | 13 | 40.6 |
| Braille       | Yes                               | 17 | 53.1 |
| Braille       | No                                | 15 | 46.9 |
| Functional    | Medium Level                      | 21 | 65.6 |
| Vision Skills | Good Level                        | 11 | 34.4 |

#### **Data Collection Tools**

Multidimensional Legibility Scale and Spelling Error Evaluation Form were used as data collection tools in the study.

The purpose of using The Multidimensional Legibility Scale was to evaluate the legibility of the students' writings. Yildiz & Ates (2007) developed the scale, and Gok & Bas (2020) adapted it to basic vertical writing. The scale consists of the following five subdimensions: letter slope, spacing, size, shape, and line straightness. The scale was developed according to the analytical evaluation approach. Accordingly, they each sub-dimension was evaluated to serve triple grading; 3 points: sufficient, 2 points: partially sufficient, and 1 point: not sufficient. In this context, it can obtain a maximum of 15 points and a minimum of 5 points from the full scale. The total points received are also categorized in three ways; 5-8.3 point range: not legible, 8.4-11.7 point range: moderately legible, and 11.8-15 point range: legible. A sample writing of a student with low vision is illustrated in Figure 1.

Spelling Error Evaluation Form was utilized to identify the spelling errors made by the fourth-grade students with low vision. The researcher prepared the form inspiring from several other studies on Turkishspeaking children (e.g., Babayigit, 2019; Erden et al., 2002; Erturk & Kucuktepe, 2019; Sugumlu, 2020; Uludag, 2002; Yildirim, 2018). During the determination of the items to be included in the form, the opinions of the visually impaired education specialist (3), the Turkish education expert (2), and the assessment and evaluation specialist (1) were obtained. They were asked to evaluate the items related to spelling errors as appropriate, be corrected, and not suitable to serve a triple assessment. In line with experts' recommendations, an evaluation form consisting of six sections and 21 items was developed. The form was



also evaluated with the help of two students who were not included in the study group. The form consists of the following sections with 21 items: letter (5), syllable (3), word (3), sentence (3), spelling (4), and punctuation (3). Calculation of spelling errors is evaluated based on the frequency of the errors made by the students. Table 2 shows some spelling errors from the writing of the students with low vision regarding the spelling error evaluation form items.

## Figure 1 Sample Writing of a Student with Low Vision

#### **Data Collection**

The data were collected in the 2020-2021 academic year after obtaining the ethical permission process. In addition, as the targeted study group consists of primary school (fourth-grade) students, the students' parents were informed and asked to voluntarily sign the Parent Consent Form for their children to participate in the study.

|      |                |                  | -           |
|------|----------------|------------------|-------------|
| BED  | sinaulardand   | eparta olirdim   | nator tolar |
| 66 9 | elledisannobin | gün Fogeldi uete | sekleün     |
| -    | gestal dim sa  | . 9 1            |             |
| -    | nontenin dedic |                  |             |
| 1010 | ncedigindensi  | nautordoin yuks  | ek oldigind |

Table 2
Examples of Spelling Errors

| Sections | Items   | What Students Wrote |
|----------|---|---------------------|
|          | Skipping Letters  | dier acaba          |
|          | Letter Addition   | ticene bindik       |
|          | Letter Mixing/Changing                                    | Gor edientin        |
|          | Writing the Letter Smaller/Bigger than the Relevant Range | Largenci alas       |
| Letter   | Not Writing the Letter Properly                           | Gonto bu            |
|          | Skipping Syllable   | asa baltim          |
|          | Syllable Addition   | ara a na sut to 9   |
| Syllable | Syllable Separation                                       | Zoman dir           |

#### Table 2. continue

Examples of Spelling Errors

| Sections    | Items  | What Students Wrote        |
|-------------|--|----------------------------|
|             | Combined Spelling of the Word                                  | ilkdefa                    |
|             | Dividing the Word  | Juna park                  |
| Word        | Misspelling  | Gogul ve yutup             |
|             | Leaving the Sentence Incomplete                                | have a bent tehrik         |
|             | Not Writing the Sentence in a Straight Line                    | bizin isimize yariyorga    |
| Sentence    | Not Leaving Indents at the Beginning of a Sentence (Paragraph) | Benim dagem günirmde       |
|             | Misspelling suffix (-de)                                       | Hem hozor o Hemde          |
|             | Misspelling suffix (-ki)                                       | Biliyarumki Sen            |
|             | Misspelling Uppercase/Lowercase Letters                        | olan BalaTa                |
| Spelling    | Misspelling Numbers  | gurel 13 ehir              |
|             | Not Using Punctuation in the Proper Place                      | herselin l'aclasi zarardir |
|             | Wrong Use of Punctuation                                       | oilem le                   |
| Punctuation | Not Writing Punctuation Properly                               | ogranifiza                 |



The researcher personally visited to the schools with students with low vision and collected the data in the Turkish lessons in the students' curriculum. The student's classroom teachers and the researcher were together during the data collection process. Due to the COVID-19 pandemic in Turkey, the researcher paid attention to social distance rules during the explanation process. The classroom teachers also kept a certain distance from the students while distributing and collecting papers. At the begining of the lesson, teachers introduced the researcher to the students. The researcher brified the students about the study and explained the purpose and scope of the study with the information on what to do in this process and emphasized that participation is on a voluntary basis. He then asked students with low vision to do free writing. Graham et al. (2011) believed that allowing students to write in their preferred mode increases the validity of writing assessments. Accordingly, students wrote about the subject they wanted without any subject limitation. For the data collection process, a period of 40 minutes was allocated in the Turkish lesson. However, there was no limitation on time and word and page counts for the students. While the students with low vision used an average of 9.5 minutes to write, they wrote average 43 words during this period. The students' papers were collected by the teachers and delivered to the researcher. Afterward, the researcher ended the data collection process by thanking the students who participated in the study.

#### Data Analysis

The data analysis procedures of the study were performed using the SPSS 21.0 package program. Descriptive analyses such as frequency (f), percentage (%), arithmetic mean ( $\bar{X}$ ), and standard deviation (sd) were used in the data analysis. Also, normality analyses were performed. In this context, the researcher analyzed the distribution of normality of the scores obtained from the legibility scale and the spelling error evaluation form from the fourth-grade students with low vision participating in the study. To check the distribution of normality, Kolmogorov-Smirnov and Shapiro-Wilk analyses were conducted, and thus, the Skewness and Kurtosis coefficient values were checked. The findings of the analyses showed

that the p values were significant (p < 0.05), and the Skewness-Kurtosis coefficient values did not range within the desired threshold. The significance of these results indicates that the data do not show normal distribution (Hair et al., 1998). According to the findings, it would be safe to state that the data at hand do not show a normal distribution. Therefore, non-parametric analyses were performed in the survey. The Mann-Whitney U test was performed to analyze whether the data obtained from two unrelated samples created a significant difference concerning each other and whether the legibility and spelling error scores of fourth-grade students with low vision differ by gender, type of school, and braille. The correlation between legibility and spelling errors was analyzed using Spearman's rank correlation method.

#### Inter-Coder Reliability

The inter-coder reliability of the study was performed to determine legibility and spelling errors were calculated through a random sampling method for nine out of 32 students (30%). The coder's and researcher's evaluations for all writings were compared using the formula "Agreement / [Agreement + Disagreement] X 100" (House et al., 1981). According to the findings, the inter-coder reliability for legibility was found to be 95.6% and 92.1% for spelling errors.

#### Results

The findings on the legibility of the writings of fourthgrade students with low vision are shown in Table 3.

Table 3 shows that the writings of four students with low vision are legible. It is noteworthy to mention that these students are girls, participate in inclusive environments, and do not know how to read braille. The essays of 11 students with low vision are legible at a moderate level. Most of these students are boys, attend school for the visually impaired and know how to read braille. The essays of 17 students with low vision are not legible. The papers of more than half of the students with low vision are not legible, and the number of students is close to each other in terms of gender, school type, and braille.

**Table 3**Findings Regarding the Legibility Level

| Variables     | Categories -                      | Not Legible |      | Moderately Legible |      | Legible |      |    | Total |
|---------------|-----------------------------------|-------------|------|--------------------|------|---------|------|----|-------|
| variables     | Calegories -                      | f           | %    | f                  | %    | f       | %    | f  | %     |
| 0             | Male                              | 10          | 55.5 | 8                  | 44.5 | -       | -    | 18 | 56.3  |
| Gender        | Female                            | 7           | 50.0 | 3                  | 21.5 | 4       | 28.5 | 14 | 43.7  |
| Calagal Turas | Schools for the Visually Impaired | 11          | 57.8 | 8                  | 42.2 | -       | -    | 19 | 59.4  |
| School Type   | Inclusive Environments            | 6           | 46.1 | 3                  | 23.2 | 4       | 30.7 | 13 | 40.6  |
| Dunilla       | Yes                               | 10          | 58.8 | 7                  | 41.2 | -       | -    | 17 | 53.1  |
| Braille       | No                                | 7           | 46.8 | 4                  | 26.6 | 4       | 26.6 | 15 | 46.9  |

The descriptive statistics findings of the scores of the fourth-grade students with low vision from the sub-dimensions and the total of the legibility scale are shown in Table 4.

**Table 4**Descriptive Statistics on Scores Obtained from the Legibility Scale

| Dimensions           | n  | Min. | Мах.  | М    | sd   |
|----------------------|----|------|-------|------|------|
| Slope                | 32 | 1.00 | 3.00  | 1.81 | .78  |
| Spacing              | 32 | 1.00 | 3.00  | 1.81 | .69  |
| Size                 | 32 | 1.00 | 3.00  | 1.87 | .55  |
| Shape                | 32 | 1.00 | 2.00  | 1.68 | .47  |
| Line<br>Straightness | 32 | 1.00 | 2.00  | 1.37 | .49  |
| Total                | 32 | 5.00 | 13.00 | 8.56 | 2.43 |

Table 4 shows that students with low vision exhibited the highest performance in the size dimension (M = 1.87) and the most inadequate performance in the line straightness dimension (M = 1.47). The average score they obtained from the scale was M = 8.56.

The Mann-Whitney U test was performed to determine whether the scores of fourth-grade students with low vision from the sub-dimensions and total of the legibility scale differ by gender. The test results are summarized in Table 5.

**Table 5**Mann Whitney U-Test Results of Legibility Scores by Gender

| Dimensions    | Gender | N  | Mean  | Sum of | U      | P    |
|---------------|--------|----|-------|--------|--------|------|
| Diffierisions | Gender | IN | Rank  | Rank   | U      | Р    |
| Slope         | Male   | 18 | 14.83 | 267.00 | 96.00  | .222 |
| siope         | Female | 14 | 18.64 | 261.00 |        |      |
| Cnaoina       | Male   | 18 | 15.00 | 270.00 | 99.00  | .261 |
| Spacing       | Female | 14 | 18.43 | 258.00 |        |      |
| Size          | Male   | 18 | 15.97 | 287.50 | 116.50 | .658 |
| 3120          | Female | 14 | 17.18 | 240.50 |        |      |
| Chana         | Male   | 18 | 16.17 | 291.00 | 120.00 | .777 |
| Shape         | Female | 14 | 16.93 | 237.00 |        |      |
| Line          | Male   | 18 | 16.72 | 301.00 | 122.00 | .856 |
| Straightness  | Female | 14 | 16.21 | 227.00 |        |      |
| Total         | Male   | 18 | 15.25 | 274.50 | 103.50 | .387 |
| Total         | Female | 14 | 18.11 | 253.50 |        |      |

The scores of fourth-grade students with low vision obtained from the sub-dimensions of slope (U = 96.00; p > 0.05), spacing (U = 99.00; p > 0.05), size (U = 116.50; p > 0.05), shape (U = 120.00; p > 0.05), line straightness (U = 122.00; p > 0.05), and total (U = 103.50; p > 0.05) do not make a significant difference by gender. No difference in the scores obtained by the boys and girls from the sub-dimensions and the total of the legibility scale was observed.

The Mann-Whitney *U* test was performed to determine whether the scores of fourth-grade students with low vision from the sub-dimensions and total of the legibility scale differ by the school type. The test results are shown in Table 6.

As Table 6 shows, the scores of fourth-grade students with low vision obtained from the sub-dimensions of slope (U = 109.00; p > 0.05), spacing (U = 96.50; p > 0.05), shape (U = 106.50; p > 0.05), line straightness (U = 89.50; p > 0.05) and total (U = 85.00; p > 0.05) do not significantly differ by the school type. According the table, only the scores obtained from the size (U = 74.50; p < 0.05) sub-dimension of the legibility scale made a significant difference by the school type. The mean rank in size sub-dimension scores revealed that the average of students with low vision in inclusive environments is higher than that of the students in schools for the visually impaired.

The Mann-Whitney *U* test was used to see whether the scores of fourth-grade students with low vision from the sub-dimensions and total of the legibility scale differ by braille. The test results are shown in Table 7.

As shown in Table 7, the scores that fourth-grade students with low vision obtained from the sub-dimensions of slope (U = 119.50; p > 0.05), spacing (U = 108.00; p > 0.05), shape (U = 100.50; p > 0.05), line straightness (U = 89.50; p > 0.05), and total (U = 91.00; p > 0.05) do not make a significant difference by the braille. The scores obtained from the size (U = 74.50; p < 0.05) sub-dimension of the legibility scale significantly differed by the braille. The findings of the mean rank in size sub-dimension revealed that the average scores of the students who do not know braille is higher than the students who know braille.

Descriptive statistics of the scores obtained by fourthgrade students with low vision from the sections (including the sub-items) and the sum of the Spelling Error Evaluation Form are presented in Table 8.

According to Table 8, fourth-grade students with low vision make the most letter errors (M = 105.93), followed by word (M = 8.78) and spelling errors (M = 7.06), at the section level. The least a made error is at the syllable level (M = 3.81). In the letter level spelling errors, writing the letter bigger/smaller than the relevant range (M =51.68) has the highest average, and letter addition (M = .75) has the lowest average. The most common error made at the syllable level is a syllable separation (M =1.68). At the word level, the combined spelling of the word (M = 7.40) was observed as the most common spelling error. At the sentence level, the most common spelling error not writing the sentence in a straight line (M = 4.93), while less common one leaving the sentence incomplete (M = .87). In the spelling errors, misspelling uppercase/lowercase letters (M = 5.84) have the most



**Table 6**Mann Whitney U-Test Results of Legibility Scores by School Type

| Dimensions         | School Type                       | Ν  | Mean Rank | Sum of Rank | U      | Р     |
|--------------------|-----------------------------------|----|-----------|-------------|--------|-------|
| Clara              | Schools for the Visually Impaired | 19 | 15.74     | 299.00      | 109.00 | .551  |
| Slope              | Inclusive Environments            | 13 | 17.62     | 229.00      |        |       |
| 0                  | Schools for the Visually Impaired | 19 | 15.08     | 286.50      | 96.50  | .256  |
| Spacing            | Inclusive Environments            | 13 | 18.58     | 241.50      |        |       |
| Cina               | Schools for the Visually Impaired | 19 | 13.92     | 264.50      | 74.50  | .021* |
| Size               | Inclusive Environments            | 13 | 20.27     | 263.50      | 263.50 |       |
| Clasus             | Schools for the Visually Impaired | 19 | 15.61     | 296.50      | 106.50 | .417  |
| Shape              | Inclusive Environments            | 13 | 17.81     | 231.50      |        |       |
| Lina Chuninlahanaa | Schools for the Visually Impaired | 19 | 14.71     | 279.50      | 89.50  | .120  |
| Line Straightness  | Inclusive Environments            | 13 | 19.12     | 248.50      |        |       |
| Total              | Schools for the Visually Impaired | 19 | 14.47     | 275.00      | 85.00  | .135  |
| ioidi              | Inclusive Environments            | 13 | 19.46     | 253.00      |        |       |

<sup>\*</sup>p<0.05

**Table 7**Mann Whitney U-Test Results of Legibility Scores According to the Braille

| Dimensions           | Braille | Ν  | Mean Rank | Sum of Rank | U      | Р     |
|----------------------|---------|----|-----------|-------------|--------|-------|
| Clara                | Yes     | 17 | 16.03     | 272.50      | 119.50 | .746  |
| Slope                | No      | 15 | 17.03     | 255.50      |        |       |
| Con explicate        | Yes     | 17 | 15.35     | 261.00      | 108.00 | .419  |
| Spacing              | No      | 15 | 17.80     | 267.00      |        |       |
| 0:                   | Yes     | 17 | 13.38     | 227.50      | 74.50  | .014* |
| Size                 | No      | 15 | 20.03     | 300.50      |        |       |
| Ch ava a             | Yes     | 17 | 14.91     | 253.50      | 100.50 | .204  |
| Shape                | No      | 15 | 18.30     | 274.50      |        |       |
| Lina Otracialata ana | Yes     | 17 | 14.26     | 242.50      | 89.50  | .087  |
| Line Straightness    | No      | 15 | 19.03     | 285.50      |        |       |
| Tatal                | Yes     | 17 | 14.35     | 244.00      | 91.00  | .163  |
| Total                | No      | 15 | 18.93     | 284.00      |        |       |

<sup>\*</sup>p<0.05

common error. In punctuation errors, the average of not using punctuation marks in the proper place (M = 3.93) is higher than other errors. In general, when looking at all spelling errors, the error writing the letter bigger/smaller than the relevant range (M = 51.68) has the highest average, and the misspelling suffixes (-ki) (M = .15) has the lowest average. In addition, the average of the total spelling errors of students with low vision is M = 138.06.

The Mann-Whitney *U* test was used to determine whether the scores obtained by fourth-grade students with low vision from the sections and complete in Spelling Error Evaluation Form create a gender difference. The findings of the test are shown in Table 9.

Table 9 shows that spelling errors of the fourth-grade students with low vision in letter (U = 125.50; p > 0.05), syllable (U = 103.00; p > 0.05), word (U = 124.00; p > 0.05), sentence (U = 120.50; p > 0.05), spelling (U = 109.50; p > 0.05), punctuation (U = 82.50; p > 0.05), and total (U = 126.00; p > 0.05) do not significantly differ by gender.

The Mann-Whitney *U* test was performed to determine whether the scores of fourth-grade students with low vision differ from the sections of the Spelling Error Assessment Form and their total differ by the school type. The results are shown in Table 10.

Table 10 shows that spelling errors of the fourth-grade students with low vision in letter (U = 119.00; p > 0.05), syllable (U = 107.50; p > 0.05), word (U = 119.00; p > 0.05), sentence (U = 122.00; p > 0.05), spelling (U = 100.00; p > 0.05), punctuation (U = 103.50; p > 0.05), and total (U = 117.00; p > 0.05) do not significantly differ by school type.

To determine whether the scores of fourth-grade students with low vision from the sections and the sum of the Spelling Error Evaluation Form differ by the braille, the Mann-Whitney *U* test performed. The results of the test are presented in Table 11.

Table 11 shows that spelling errors of the fourth-grade students with low vision in letter (U = 116.00; p > 0.05), syllable (U = 104.50; p > 0.05), word (U = 126.00; p > 0.05),

**Table 8**Descriptive Statistics on Spelling Errors

| Sections    | İtems  | n  | Min.  | Max.   | X      | sd     |
|-------------|--|----|-------|--------|--------|--------|
|             | Skipping Letters   | 32 | 0.00  | 19.00  | 1.68   | 3.51   |
|             | Letter Addition  | 32 | 0.00  | 9.00   | .75    | 1.70   |
|             | Letter Mixing/Changing   | 32 | 0.00  | 23.00  | 4.65   | 6.55   |
|             | Writing the Letter Smallar/Bigger than the Relevant Range      | 32 | 3.00  | 174.00 | 51.68  | 40.18  |
| Letter      | Not Writing the Letter Correctly                               | 32 | 6.00  | 133.00 | 47.15  | 35.10  |
| Tel Tel     | Letter Subtotal  | 32 | 14.00 | 286.00 | 105.93 | 76.22  |
|             | Skipping Syllable  | 32 | 0.00  | 13.00  | 1.40   | 3.54   |
| Δ)          | Syllable Addition  | 32 | 0.00  | 10.00  | .71    | 1.90   |
| Syllable    | Syllable Separation  | 32 | 0.00  | 10.00  | 1.68   | 2.33   |
| S           | Syllable Subtotal  | 32 | 0.00  | 30.00  | 3.81   | 7.12   |
|             | Combined Spelling of the Word                                  | 32 | 0.00  | 69.00  | 7.40   | 16.39  |
|             | Dividing the Word  | 32 | 0.00  | 4.00   | .43    | .94    |
| DIG         | Misspelling  | 32 | 0.00  | 5.00   | .93    | 1.60   |
| Word        | Word Subtotal  | 32 | 0.00  | 77.00  | 8.78   | 18.08  |
|             | Leaving the Sentence Incomplete                                | 32 | 0.00  | 6.00   | .87    | 1.38   |
|             | Not Writing the Sentence in a Straight Line                    | 32 | 0.00  | 18.00  | 4.93   | 4.33   |
| Sentence    | Not Leaving Indents at the Beginning of a Sentence (Paragraph) | 32 | 0.00  | 5.00   | 1.21   | 1.00   |
| Ser         | Sentence Subtotal  | 32 | 1.00  | 21.00  | 7.03   | 5.42   |
|             | Misspelling suffix (-de)                                       | 32 | 0.00  | 2.00   | .53    | .71    |
|             | Misspelling suffix (-ki)                                       | 32 | 0.00  | 1.00   | .15    | .36    |
|             | Misspelling Uppercase/Lowercase Letters                        | 32 | 0.00  | 22.00  | 5.84   | 5.90   |
| Spelling    | Misspelling Numbers  | 32 | 0.00  | 6.00   | .53    | 1.31   |
| Spe         | Spelling Subtotal  | 32 | 0.00  | 23.00  | 7.06   | 6.09   |
|             | Not Using Punctuation in the Proper Place                      | 32 | 0.00  | 18.00  | 3.93   | 3.77   |
| atio        | Wrong Use of Punctuation                                       | 32 | 0.00  | 12.00  | .75    | 2.18   |
| Punctuation | Not Writing Punctuation Properly                               | 32 | 0.00  | 4.00   | .75    | 1.04   |
| Pur         | Punctuation Subtotal   | 32 | 0.00  | 18.00  | 5.43   | 4.15   |
| Total S     | Spelling Errors  | 32 | 16.00 | 441.00 | 138.06 | 104.80 |
|             |  |    |       |        |        |        |

**Table 9**Mann Whitney U-Test Results of Spelling Mistakes According to Gender

| Sectioons    | Gender | N  | Mean Rank | Sum of Rank | U      | Р    |
|--------------|--------|----|-----------|-------------|--------|------|
| 1 - 44       | Male   | 18 | 16.47     | 296.50      | 125.50 | .985 |
| Letter       | Female | 14 | 16.54     | 231.50      |        |      |
| C. Illada la | Male   | 18 | 17.78     | 320.00      | 103.00 | .371 |
| Syllable     | Female | 14 | 14.86     | 208.00      |        |      |
| Word         | Male   | 18 | 16.61     | 299.00      | 124.00 | .938 |
|              | Female | 14 | 16.36     | 229.00      |        |      |
| Cantanaa     | Male   | 18 | 16.19     | 291.50      | 120.50 | .834 |
| Sentence     | Female | 14 | 16.89     | 236.50      |        |      |
| On allina    | Male   | 18 | 17.42     | 313.50      | 109.50 | .529 |
| Spelling     | Female | 14 | 15.32     | 214.50      |        |      |
| Donatoration | Male   | 18 | 18.92     | 340.50      | 82.50  | .097 |
| Punctuation  | Female | 14 | 13.39     | 187.50      |        |      |
| Tatal        | Male   | 18 | 16.61     | 297.00      | 126.00 | .909 |
| Total        | Female | 14 | 16.49     | 231.00      |        |      |



sentence (U = 114.50; p > 0.05), spelling (U = 116.50; p > 0.05), punctuation (U = 103.50; p > 0.05), and total (U = 116.00; p > 0.05) show do not significantly differ by braille.

The results of rank correlation coefficient are presented in Table 12. The results of the test show that there is a significant and negative relationship between the spelling error scores of fourth-grade students with low vision and their legibility scores (r = -.431, p < 0.05).

#### **Discussion and Conclusion**

This study investigates the writings of fourth-grade students with low vision in terms of legibility and spelling errors. According to study findings, the handwriting of more than half of the students was not legible. Handwritings of the vast majority of the remaining students were moderately legible, and only four students wrote legible writing. According to McCall (1999), there are wide variations in students' writing with low vision. Moreover, while some students

**Table 10**Mann Whitney U-Test Results for Spelling Mistakes According to School Type

| School Type                       | n   | Mean Rank   | Sum of Rank  | U  | Р   |
|-----------------------------------|---|---|--|--|---|
| Schools for the Visually Impaired | 19  | 16.74   | 318.00   | 119.00   | .863  |
| Inclusive Environments            | 13  | 16.15   | 210.00   |  |   |
| Schools for the Visually Impaired | 19  | 17.34   | 329.50   | 107.50   | .529  |
| Inclusive Environments            | for the Visually Impaired 19 16.74 Inclusive Environments 13 16.15 for the Visually Impaired 19 17.34 Inclusive Environments 13 15.27 for the Visually Impaired 19 16.74 Inclusive Environments 13 16.15 for the Visually Impaired 19 16.42 Inclusive Environments 13 16.62 for the Visually Impaired 19 17.74 Inclusive Environments 13 14.69 for the Visually Impaired 19 17.55 Inclusive Environments 13 14.96 | 198.50  |  |  |   |
| Schools for the Visually Impaired | 19  | 16.74   | 318.00   | 119.00   | .860  |
| Inclusive Environments            | 13  | 16.15   | 210.00   |  |   |
| Schools for the Visually Impaired | 19  | 16.42   | 312.00   | 122.00   | .954  |
| Inclusive Environments            | 13  | 16.62   | 216.00   |  |   |
| Schools for the Visually Impaired | 19  | 17.74   | 337.00   | 100.00   | .365  |
| Inclusive Environments            | 13  | 14.69   | 191.00   |  |   |
| Schools for the Visually Impaired | 19  | 17.55   | 333.50   | 103.50   | .440  |
| Inclusive Environments            | 13  | 14.96   | 194.50   |  |   |
| Schools for the Visually Impaired | 19  | 16.84   | 320.00   | 117.00   | .803  |
| Inclusive Environments            | 13  | 16.00   | 208.00   |  |   |
|                                   | Schools for the Visually Impaired Inclusive Environments    | Schools for the Visually Impaired Inclusive Environments I3 | Schools for the Visually Impaired 19 16.74 Inclusive Environments 13 16.15 Schools for the Visually Impaired 19 17.34 Inclusive Environments 13 15.27 Schools for the Visually Impaired 19 16.74 Inclusive Environments 13 16.15 Schools for the Visually Impaired 19 16.42 Inclusive Environments 13 16.62 Schools for the Visually Impaired 19 17.74 Inclusive Environments 13 14.69 Schools for the Visually Impaired 19 17.55 Inclusive Environments 13 14.96 Schools for the Visually Impaired 19 17.55 Inclusive Environments 13 14.96 | Schools for the Visually Impaired 19 16.74 318.00 Inclusive Environments 13 16.15 210.00 Schools for the Visually Impaired 19 17.34 329.50 Inclusive Environments 13 15.27 198.50 Schools for the Visually Impaired 19 16.74 318.00 Inclusive Environments 13 16.15 210.00 Schools for the Visually Impaired 19 16.42 312.00 Inclusive Environments 13 16.62 216.00 Schools for the Visually Impaired 19 17.74 337.00 Inclusive Environments 13 14.69 191.00 Schools for the Visually Impaired 19 17.55 333.50 Inclusive Environments 13 14.96 194.50 Schools for the Visually Impaired 19 17.55 333.50 Inclusive Environments 13 14.96 194.50 | Schools for the Visually Impaired         19         16.74         318.00         119.00           Inclusive Environments         13         16.15         210.00           Schools for the Visually Impaired         19         17.34         329.50         107.50           Inclusive Environments         13         15.27         198.50           Schools for the Visually Impaired         19         16.74         318.00         119.00           Inclusive Environments         13         16.15         210.00         122.00           Schools for the Visually Impaired         19         16.42         312.00         122.00           Inclusive Environments         13         16.62         216.00           Schools for the Visually Impaired         19         17.74         337.00         100.00           Inclusive Environments         13         14.69         191.00           Schools for the Visually Impaired         19         17.55         333.50         103.50           Inclusive Environments         13         14.96         194.50           Schools for the Visually Impaired         19         16.84         320.00         117.00 |

**Table 11**Mann Whitney U-Test Results of Spelling Mistakes According to Braille

| Sections    | Braille | N  | Mean Rank | Sum of Rank | U      | Р    |
|-------------|---------|----|-----------|-------------|--------|------|
| Letter      | Yes     | 17 | 17.18     | 292.00      | 116.00 | .664 |
|             | No      | 15 | 15.73     | 236.00      |        |      |
| Syllable    | Yes     | 17 | 17.85     | 303.50      | 104.50 | .373 |
|             | No      | 15 | 14.97     | 224.50      |        |      |
| Word        | Yes     | 17 | 16.41     | 279.00      | 126.00 | .954 |
|             | No      | 15 | 16.60     | 249.00      |        |      |
| Sentence    | Yes     | 17 | 17.26     | 293.50      | 114.50 | .621 |
|             | No      | 15 | 15.63     | 234.50      |        |      |
| Spelling    | Yes     | 17 | 17.15     | 291.50      | 116.50 | .677 |
|             | No      | 15 | 15.77     | 236.50      |        |      |
| Punctuation | Yes     | 17 | 15.09     | 256.50      | 103.50 | .362 |
|             | No      | 15 | 18.10     | 271.50      |        |      |
| Total       | Yes     | 17 | 17.18     | 292.00      | 116.00 | .664 |
|             | No      | 15 | 15.73     | 236.00      |        |      |

**Table 12**Correlation Results between the Legibility Scores of Low Vision Students and Spelling Mistakes Scores

|                   | 1    | 2    |  |
|-------------------|------|------|--|
| Spelling Mistakes | -    | 431* |  |
| Legibility        | 431* | -    |  |
| * 005             |      |      |  |

<sup>\*</sup>p<0.05

may write correctly and legibly, others may find it challenging to achieve their legibility and fluency goals. This is in line with the findings revealed by other studies. When the level of legibility was measured in terms of slope, spacing, size, shape, and line straightness dimensions. The findings of other studies exaimining these dimensions revealed that the font size of writing of students with low vision varies, and they cannot write in a straight line (Harris-Brown et al., 2015). Harley et al. (1997) claimed that students with low vision had difficulty in line straightness, and there were differences in size and slope in the letters they wrote. In this respect, the results of this study are in line with the findings of the provious studies.

As for the curriculum objectives (MONE, 2019), students with low vision are expected to achieve the same gains in writing as their peers with normal vision. However, based on the results of this study conducted with fourth-grade students, it would be safe to say that the legible writing skills that students with low vision are supposed to acquire have not been adequately improved.

Another finding of this study reveals that the common errors made by fourth-grade students with low vision are letter, word, and spelling errors. The students made the fewest errors at the syllable level. However, the most common error was writing the letter smaller/bigger than the relevant size. Other spelling errors encountered were not writing the letter correctly, mixing/changing letters, skipping syllables, the combined spelling of the word, not writing the sentence in a straight line, not leaving indents at the beginning of the sentences, misspelling uppercase/ lowercase letters, and not using the punctuation marks in the proper place. Based on these findings, it would be safe to say that fourth-grade students with low vision made various spelling errors. Some previous studies also examined students' spelling errors with low vision. Harris-Brown et al. (2015) found that the font size written by students with low vision varies. They cannot write straight, and there are irregularities between their letters and words and spaces. In another study, Harley et al. (1997) reported that students with low vision made different spelling errors, such as unequal letter spacing, the combination of words, difficulty in line straightness, inconsistent letters, size and slope differences in letters, skipping words, and not adhering to margins. McCall (1999) stated that the writings of students with low vision may be extensive, irregular, and inconsistent in a letter structure. They may have difficulty leaving equal space between words and writing in a straight line, especially when the teacher shows the shapes of the letters. Cakmak et al. (2016) found that students with low vision had difficulty writing the desired words in the notebook and between the lines. Thus one can say that there is a similarity between the results obtained from this and that of the earlier studies. Students with low vision may experience difficulties in writing skills due to conditions such as motor skills, visual factors, and mechanical challenges (Arter et al., 1996; Kaiser et al., 2009; McCall, 1999). Therefore, they may show inadequacy in writing skills, which is an academic skill (Aki et al., 2008). Markowitz (2006) claimed that it may be challenging to use handwriting for students with low vision. Thus, these factors may have influenced students' writing skills with low vision. The performances of students with low vision in spelling mistakes can be associated with the aforementioned factors.

Furthermore, this study shows that fourth-grade students' legibility and spelling error scores with low vision did not significantly differ according to the gender variable. Harris-Brown et al. (2015) examined the legibility of the writing of students with low vision according to gender. Their study revealed no significant difference between the legibility of the essays of male and female students. Their findings are in line with the findings of this study. These findings reveal that the gender variable does not predict students' writing with low vision regarding legibility and spelling errors.

Apart from the gender variable, another variable examined in this study is school type. The results show that legibility and spelling error scores of the fourthgrade students with low vision did not significantly differ by the school type. In the size dimension, the scores of the students exhibit a difference by the school type. This difference was in favor of the students in the inclusive environments. In Turkey, students with low vision receive education either in schools for visually impaired or in inclusive settings. They follow the same program as students with normal vision do. That means MONE has adopted the normalization principle (Cakmak et al., 2017). Therefore, it would be safe to say that there is no difference between the achievements aimed to be acquired by students. This study revealed no significant difference in legibility and spelling error scores students with low vision who attended the school for the visually impaired and the students who receive their education in inclusive environments. Thus, it would be safe to say that the school type variable does not predict students' legibility and spelling errors.

Another issue examined in this study was braille writing. Students with low vision have two literacy tool options: printed (standard) materials and braille (Holbrook, 2009). Depending on their characteristics and needs, students with low vision can use one or both of these options. Although printed materials were taken as a criterion for fourth-grade students with low vision participating in the study, more than half of the participants also knew braille. The legibility (excluding size dimension) and spelling error scores fourth-grade students with low vision did not significantly differ



by the braille. This finding shows that the difference in size dimension difference is in fovor of students who did not know braille. In a study by Savaiano & Hebert (2019), no difference between the mechanics of the writing written with paper-pencil and braille was reported. Another study reported that teachers working students with visual impairment differ in their beliefs about using paper-pencil and braille (Hebert & Savaiano, 2020). The findings of this study revealed that knowing or not knowing braille does not affect students with low vision to write legible and accurate handwriting.

Students with low vision made various spelling errors that were in line with the findings of previous studies. It was also was found that students with low vision who read and write in Turkish make different spelling errors. especially at the spelling level. These errors are mainly related to the spelling of suffixes or numbers. Similar findings were observed in studies conducted with students who read and write in Turkish (e.g., Babayigit, 2019; Sugumlu, 2020; Uludag, 2002). Therefore, the language can be considered an important variable. In this respect, it is thought that the findings obtained from the research provide important information from both international and national perspectives. Another result that should be emphasized in the study is that there is a significant and negative relationship between spelling mistakes and legibility scores. The tendency is that as the legibility level of the writings of fourth-grade students with low vision increases, their spelling errors decrease.

This study has expanded our knowledge about the challenges the students with low vision encounter in their school environment, but it has some limitations. The small sample size, lack of knowledge about the teachers' competence, and lack of addressing the SES-related factors are issues that were not addressed. More research is needed to address these issues and the skill-related issues such as dimensions of the students' writing speed, accuracy, and fluency dimensions of the students writing.

#### References

- Aki, E., Atasavun, S., & Kayihan, H. (2008). Relationship between upper extremity kinesthetic sense and writing performance by students with low vision. *Perceptual and Motor Skills*, 106(3), 963-966. https://doi.org/10.2466/pms.106.3.963-966
- Arter, C., McCall, S., & Bowyer, T. (1996). Handwriting and children with visual impairments. *British Journal of Special Education*, 23(1), 25-28. https://doi.org/10.1111/j.1467-8578.1996.tb00939.x

- Aslan, C. (2020). Görme engelli, az gören ve gören öğrencilerin yazılı ifade becerilerinin karşılaştırmalı olarak incelenmesi [Comparative analysis of written expression skills of students with visually impaired, students with low vision and sighted students] [Doctoral dissertation, Gazi University]. Council of Higher Education Thesis Center. https://tez.yok.gov.tr/UlusalTezMerkezi/TezGoster?key=aEzj\_IdWAsjiSAfK3qwrBmk43QheALo-f8ZnAXVtUzT9HxOlWzXDwpwoBusxW5H5
- Aslan, C., & Cakmak, S. (2020). Metin türleri bağlamında az gören, görme engelli ve gören öğrencilerin yazılı ifade becerilerinin incelenmesi [Examining written expression skills of low vision, visually impaired and sighted students in the context of text types]. Journal of Mother Tongue Education, 8(3), 868-885. https://doi.org/10.16916/aded.741627
- Atasavun Uysal, S., & Aki, E. (2012). Relationship between writing skills and visual motor control in low vision students. *Perceptual and Motor Skills: Perception, 115*(1), 111-119. https://doi.org/10.2466/24.27.25.PMS.115.4.111-119
- Atasavun Uysal, S., & Duger, T. (2012). Writing and reading training effects on font type and size preferences by students with low vision. *Perceptual and Motor Skills*, 114(3), 837-846. https://doi.org/10.2466/15.10.11.24.PMS.114.3.837-846
- Babayigit, O. (2019). Ortaokul altıncı sınıf öğrencilerinin sözcük düzeyinde yazım yanlışlarının incelenmesi [Examining the sixth grade students' word-level spelling mistakes]. *Journal* of Mother Tongue Education, 7(1), 94-114. https:// doi.org/10.16916/aded.466685
- Berninger, V. W., Nielson, K. H., Abbott, R. D., Wijsman, E., & Raskind, W. (2008). Gender differences in severity of writing and reading disabilities. *Journal of School Psychology, 46*(2), 151-172. https://doi.org/10.1016/j.jsp.2007.02.007
- Buyukozturk, S., Kilic Cakmak, E., Akgun, O. E., Karadeniz, S., & Demirel, F. (2011). Bilimsel araştırma yöntemleri [Scientific research methods]. Pegem.
- Cakmak, S., Karakoc, T., & Safak, P. (2016). Az gören öğrencilerin görme becerileri ile ilgili farkındalık düzeylerinin belirlenmesi [The determination of the of the awareness levels of low vision students with reference to their visual skills]. Abant Izzet Baysal University Journal of Education Faculty, 16(4), 1687-1705. https://dergipark.org.tr/tr/pub/aibuefd/issue/28550/304592

- Cakmak, S., Yilmaz, H. C., & Isitan, H. D. (2017).

  Determining the appropriateness of visual based activities in the primary school books for low vision students. *European Journal of Educational Research*, 6(4), 523-540. https://doi.org/10.12973/eu-jer.6.4.523
- Erden, G., Kurdoglu, F., & Uslu, R. (2002). İlköğretim okullarına devam eden Türk çocuklarının sınıf düzeylerine göre okuma hızı ve yazım hataları normlarının geliştirilmesi [Development of grade level norms for reading speed and writing errors of Turkish elementary school children]. *Turkish Journal of Psychiatry, 13*(1), 5-13. http://www.turkpsikiyatri.com/default. aspx?modul=turkceOzet&gFPrkMakale=11
- Erturk, E., & Kucuktepe, C. (2019). Üstün zekâlı birinci sınıf öğrencilerinin ilk okuma ve yazma hatalarının incelenmesi [Investigation of first reading and writing failures of gifted first grade students]. Eskisehir Osmangazi University Journal of Social Sciences, 20(Special Issue), 393-411. https://doi.org/doi.org/10.17494/ogusbd.548521
- Gok, B., & Bas, O. (2020). İlkokul 1. sınıf öğrencilerinin dik temel yazılarının okunaklılığı üzerine bir inceleme [Investigating the legibility of primary school 1st grade students' manuscript writing]. Journal of Mother Tongue Education, 8(2), 572-585. https://doi.org/10.16916/aded.696147
- Graham, S., Berninger, V., Weintraub, N., & Schafer, W. (1998). Development of handwriting speed and legibility in grades 1-9. The Journal of Educational Research, 92(1), 42-52. https://doi.org/10.1080/00220679809597574
- Graham, S., Harris, K., & Hebert, M. (2011). Informing writing: The benefits of formative assessment. A report from carnegie corporation of New York. Alliance for Excellent Education.
- Guven, Z. (2020). Az gören çocuklarda el yazısı kinematiğine ve kalem tutma pozisyonuna etki eden faktörlerin incelenerek tipik gelişim gösteren yaşıtları ile karşılaştırılması [The examination of factors affecting handwriting kinematics and pen grip position in children with low-vision and comparison of typically developed peers]. [Master's thesis, Hacettepe University]. Council of Higher Education Thesis Center. https://tez.yok.gov.tr/UlusalTezMerkezi/TezGoster?key=aEzj\_ldWAsjiSAfK3qwrBtZxQZjp NeQ3Kenvlw043pb0moN-dLIFSpQErMgseAd-
- Hair, J. F., Anderson, R. L., Tatham, W., & Black, C. (1998).

  Multivariate data analysis: With readings.

  PrenticeHall.

- Harley, R. K., Truan, M. B., & Sandford, L. D. (1997).

  Communication skills for visually impaired learners: Braille, print, and listening skills for students who are visually impaired. Charles C Thomas.
- Harris-Brown, T., Richmond, J., Maddalena, S. D., & Jaworski, A. (2015). A comparison of the handwriting abilities of secondary students with visual impairments and those of sighted students. *Journal of Visual Impairment & Blindness*, 109(5), 402-412. https://doi.org/10.1177/0145482X1510900510
- Hebert, M., & Savaiano, M. E. (2020). A survey of the writing instructional practices of Nebraska teachers of students with visual impairments. *Exceptionality*, 1-16. https://doi.org/10.1080/0936 2835.2020.1850450
- Holbrook, M. C. (2009). Supporting students' literacy through data-driven decision-making and ongoing assessment of achievement. *Journal of Visual Impairment & Blindness, 103*(3), 133-136. https://doi.org/10.1177/0145482X0910300302
- House, A. E., House, B. J., & Campbell, M. B. (1981). Measures of interobserver agreement: Calculation formulas and distribution effects. *Journal of Behavioral Assessment*, 3(1), 37-57. https://link.springer.com/article/10.1007%2FBF01321350
- Kaiser, M. L., Albaret, J. M., & Doudin, P. A. (2009). Relationship between visual-motor integration, eye-hand coordination, and quality of handwriting. *Journal of Occupational Therapy, Schools, & Early Intervention, 2*(2), 87-95. https://doi.org/10.1080/19411240903146228
- Karasar, N. (2000). Bilimsel araştırma yöntemi [Scientific research method]. Nobel.
- Kirac, G. (2003). Az gören öğrencilerin yazmaya hazırlık çalışmalarında bireyselleştirilmiş yazmaya hazırlık materyallerinin etkililiği [The effect of preparation materials to personelised writing in preparations studies to writing of the students who see a little]. [Master thesis, Gazi University]. Council of Higher Education Thesis Center. https://tez.yok.gov.tr/UlusalTezMerkezi/tezSorguSonucYeni.jsp
- Kreuzer, D. T. (2007). An analysis of writing practices in 4th- and 5th-grade students with visual impairments. [Doctoral dissertation, University of California Berkeley with San Francisco State University]. California. https://www.proquest.com/docview/304764389?pqorigsite=gscholar&fromopenview=true



- Macnaughton, J., Latham, K., & Vianya-Estopa, M. (2019). Rehabilitation needs and activity limitations of adults with a visual impairment entering a low vision rehabilitation service in England. Ophthalmic and Physiological Optics, 39(2), 113-126. https://doi.org/10.1111/opo.12606
- Markowitz, M. (2006). Occupational therapy interventions in low vision rehabilitation. Canadian Journal of Ophthalmology, 41(3), 340-347. https://doi.org/10.1139/106-020
- McCall, S. (1999). Accessing the curriculum. In C. Arter, H. L. Mason, S. McCall, M. McLinden & J. Stone (Eds.), *Children with visual impairment in mainstream settings* (pp. 29-40). David Fulton.
- Memis, A. D. (2018). Examination of legibility and writing speeds of primary school students with respect to writing disposition and writing style. *Universal Journal of Educational Research*, 6(5), 1050-1059. https://doi.org/10.13189/ujer.2018.060526
- Ministry of National Education [MONE]. (2019). Turkish lesson curriculum (Primary and secondary school 1st, 2nd, 3rd, 4th, 5th, 6th, 7th and 8th grades). https://mufredat.meb.gov.tr/Dosyalar/20195716392253-02-T%C3%BCrk%C3%A7e%20%C3%96%C4%9Fretim%20Program%C4%B1%202019.pdf
- Patton, M. Q. (2014). *Qualitative research and evaluation methods* (M. Bütün & S. B. Demir, Trans.). Pegem.
- Protopapas, A., Fakou, A., Drakopoulou, S., Skaloumbakas, C., & Mouzaki, A. (2013). What do spelling errors tell us? Classification and analysis of errors made by Greek school children with and without dyslexia. *Reading and Writing*, 26(5), 615-646. https://doi.org/10.1007/s11145-012-9378-3
- Safak, P. (2009). Görme yetersizliği olan çocukların eğitimi [Education of visually impaired children]. In G. Akcamete (Ed.), Genel eğitim okullarında özel gereksinimi olan öğrenciler ve özel eğitim [Students with special needs and special education in general education schools] (pp. 397-440). Kök.
- Safak, P. (2011). Az gören öğrencinin doğrudan öğretim yöntemiyle okunaklı el yazısı yazma öğretimi [Teaching legible handwriting to students with low vision using direct teaching method] [Paper presentation]. 4th International Turkish Education-Teaching Congress, Sakarya, Sakarya University.

- Safak, P., Cakmak, S., Kan, A., & Aydin O'Dwyer, P. (2013). Gazi İşlevsel Görme Değerlendirme Aracı ile az gören öğrencilerin görme becerilerinin değerlendirilmesi [Evaluation of vision skills of students with low vision with the Gazi Functional Vision Assessment Tool]. (TUBITAK Project Number: 111K549).
- Savaiano, M. E., & Hebert, M. (2019). A cross-sectional examination of the writing of students with visual impairments. *Journal of Visual Impairment & Blindness, 113*(3), 260-273. https://doi.org/10.1177/0145482X19854921
- Sugumlu, U. (2020). Ortaokul öğrencilerinin yazma çalışmalarındaki yazım ve noktalama hatalarının belirlenmesi [Determination of the spelling and punctuation errors in the writing activities of middle-school students]. *Journal of Mother Tongue Education*, 8(2), 528-542. https://doi.org/10.16916/aded.706748
- Tiryaki, D. (2012). Azgören öğren cilerin kullandıkları okuma yazma araçlarının uygunluğunun belirlen mesi [Literacy media continuing assessment students with low vision]. [Master thesis, Gazi University]. Council of Higher Education Thesis Center. https://tez.yok.gov.tr/UlusalTezMerkezi/TezGoster?key=vVNzTGHHhjH-u3WMToxQ-nGo8g78U8lcgrhgsG\_lq58QiX94c3FmDrNNythx-qAB
- Ulu, H. (2019). İlkokul birinci sınıf öğrencilerinin dik temel yazılarının okunaklılık ve yazım hataları açısından incelenmesi [An analysis of manuscript handwriting of primary school first grade students in terms of readability and writing errors]. International Journal of Field Education, 5(2), 195-211. https://doi.org/10.32570/ijofe.626430
- Uludag, E. (2002). İlköğretim ikinci kademe öğrencilerinin yazım ve noktalama kurallarını uygulama beceri düzeyleri [Students' skill fullnes in use of syntax and punctation in middle school grades]. Erzincan University Journal of Education Faculty, 4(1), 97-114. https://dergipark.org.tr/en/download/article-file/67014
- Verezen, C. A. (2009). Eccentric viewing spectacles including an introduction in low vision rehabilitation. [Doctoral dissertation, Radboud Universiteit]. Nijmegen. https://repository.ubn.ru.nl/bitstream/handle/2066/74433/74433.pdf
- World Health Organization. (2012). Global data on visual impairments 2010. https://www.who.int/blindness/GLOBALDATAFINALforweb.pdf?ua=1

- World Health Organization. (2020). ICD-11: International classification of diseases 11th revision. The global standard for diagnostic health information. https://icd.who.int/browse11/l-m/en#/http%3a%2f%2fid.who.int%2ficd%2fentity%2f1103667651
- Yalcin, G. (2020). Görme yetersizliği olan öğrencilere yönelik ortam, materyal ve program/öğretimsel düzenlemeler [Environment, materials and program/instructional arrangements for visually impaired students]. In P. Pistav Akmese & B. Altunay (Eds.), İşitme yetersizliği ve görme yetersizliği olan çocuklar ve eğitimleri [Hearing and visually impaired children and their education] (pp. 271-293). Nobel.
- Yildirim, A. (2018). İlkokul 1.sınıf öğrencilerinin bitişik eğik el yazısı hataları üzerine nitel bir araştırma [Qualitative research on the mistakes of 1st grade students in primary school about cursive writing]. Scientific Educational Studies, 2(1), 71-92. https://dergipark.org.tr/en/pub/ses/issue/37465/387620
- Yildirim, A., & Simsek, H. (2006). Sosyal bilimlerde nitel araştırma yöntemleri [Qualitative research methods in the social sciences]. Seçkin.
- Yildiz, M., & Ates, S. (2007). İlköğretim 3. sınıf öğrenci yazılarının okunaklılık bakımından incelenmesi [Examination of primary school 3rd grade students' writing in terms of legibility]. [Paper presentation]. I. National Primary Education Congress, Ankara, Hacettepe University.
- Yilmaz, H. C. (2020). Görme yetersizliği olan bireyler için eğitim seçenekleri [Education options for visually impaired individuals]. In H. Gurgur & P. Safak (Eds.), İşitme ve görme yetersizliği [Hearing and vision impairment] (pp. 185-213). Pegem.